(a)

_3_IIIIIIIIIIIIII llIl--ll---l.--II-IIIII"-'-----—-::._:-
P -4
~
T N S St
103 1072 1071 100 101 102
N; (cm~3)
(c)
T et
I S T e
e ~L Ya, / e
m ~
~ = n o m—— e— E— E—— S E—
(@)}
g 21
[Xe]
o
ZU 0 ML | ML | ML | T LA | T
103 1072 1071 109 101 102
N; (cm~3)
'S 104 —
=
-
5_
o T T T T T T T T ML | L
103 1072 1071 109 101 102
N; (cm~3)

—— Liquid, Tm=-6°C, AT=20K ———

—— Ice, Tm=-6°C, AT=20K —-- Ice, Tm=-6°C, AT=24K

Liquid, Tm=-6°C, AT=24K

—-= Liquid, Tm=-4°C, AT=20K

(b)

3.0 L e - §.§l~l
2.8
2.61 T
103 102 1071 100 10? 102
N; (cm~3)
(d)
- g FrII LI ST TETT
Q\o 'I'l'ﬁ‘l"'l'l'ﬁ'l""rm"'I'I-HH'I'I'I-I-I-I--.--._.ﬂ_....
[V}
0_
103 102 1071 100
N; (cm~3)

0.00 R B e R

T
N; (cm~3)

102

Liquid, Tm=-4°C, AT=24K
Ice, Tm=-4°C, AT=24K

Ice, Tm=-4°C, AT=20K



